Chemistry 11 Final .

What is the name given to the unit mg?

a)  magnesium b) microgram  ¢) megagram
d) milligram €) metregram

How many decimetres are in 3.78 x 101 metres?

a). 3.78x10-2 b) 0.378 c) . 3.78

d 378 o 3780

If the mnn.mma\ of solid NaCl is 2.163 g/mL, what is the mass in kg of a 2.500 L volume of
solid NaCl?

a) 0.8652 b) 1.156 <) 5.408

d) 865.2 €) not enough information given

A chemical plant can produce 2.5 x 101 litres of sulphuric acid in 1.0 minutes. A
At this rate, how many kilolitres of sulphuric acid would be produced in 1.0 awa@ .

) 25 b 36 o) 96x102
e N.S:ow mv w.?:ow

[0

Which of the following is a chemical change?
the evaporation of sea water .-

a) the electrolysis of water b)

¢) . the cutting of a piece of paper d) both a) and b) Ce . .
‘Which of the following statements is true? e .
a) all elements are made of compounds R ,
b) all elements are made of molecules .

c) all atoms are made of molecules :

4 all molecules are made of atoms P

€) none of the above statements are true o

The correct formula for tin(Il) sulphide is .

a) SnS b) TTiS D) SnSO3

d) TiS2 €~  S1S03
In the ooBvo:.Wa sodium carbonate, the molar ratio of sodium to carbon is

i b) 1:2 ©, 2:1
03 €) 2:3

9. . Thenamefor Mg3(PO4)2 is
a) magnesium perpanganate b) magnesium phosphorus
. ©) Bmmu__ommﬁz phosphate - d) trimagnesium diphosphorus
©) Bmmnn&cgﬁ.d phosphide .
_10.  The name of NO3- is . o
- a) nitrate b) nitrogen oxide <) nitride
d) nitrogen trioxide €) nitrite
" ' hi
1. - en oxygen forms an oxide with an unknown metal, the compound that forms

is (metal)203. What is the charge of the metal in the compound?

a) +1 'b) +2 ¢ +3 9 +4 e not enough information g

12, The Greek prefix "penta" is used to indicate how many atoms of an element in a binary
compound? e o

Q) 3 b) 4 ¢ 5 4 6 e 77

13.~ The formula of aluminum chloride is

a) Al b)  AlCIH o Ak
d  AlcCk e  ACH o ¢ :

14.  What is the number of significant digits in 0.0000706?

) 2 b 3 g 7 d 8 ¢) infinite
. HM. What mm.‘wmbwwm when rounded to three significant &m#.m@
a) 150 b 159 9  1.59x101
- .. 160 e 161 )
16, ‘The mo:omﬁ‘sm calculation was performed on a calculator:
(0.753 - 9.512)/15.9994 = 0.015063065
The answer to the correct number of significant digits is
“a)  1.50x 102 B 1.506x10-2 ¢ 1.5063x10-2 —
1.51%10-2

v

d)  1506306x102 &)



b

17.

18.

19.

20.

21.

22.

23.

24.

S3-

1£36 g of ZnCl2 are added to 100.879 g of water, what will be the mass of the resulting
solution to the correct number of significant digits?

a) 136 g b) 1368 ¢ c) 136.879 g
d) 1369x102 g €) none of the above
>ooE.mo_% is an indication of

a) the closeness of a value to its accepted value,

b) the consistency between repeated measurements.

c) the difference between a measurement and its averaged value,
d) the precision of 2 measurement.

e) the uncertainty in a measurement.

Which of the following statements contains an uncertain number?
a) The attendance at a concert was 4736,

b) There are 1000 m in one kilometre,

c) The number of eggs-in a dozen is 12.

d) The molar mass of aluminum is 27 g/mol.

e) The mass of one atom of carbon - 12is 12 u.

What volume of 6.0 M HCl solution is needed to make 5.0 litres of 2 0.10 M HCI solution?

a)  8mL b 120 mL ¢ 0.012L

d) 3.0L €) not enough information given

A balloon contains 4.00 mol of helium gas, how many atoms of helium are in the balloon? -
" a) 6.64 x 10-24 b) 4.00 <) 2.41x 1024

d) 4.82x 1024 ) 9.63 x 1024

How many atoms of oxygen can be found in 19.8 g of Fe2039

a)  7.46x1022 b) 2241023 9 373x102%
d) 498x1023 - €) 8.55x 1024

How many atoms are contained in 6.4 g of sodium chioride?

a) 0.22 b) 1.3 x1023 c) 2.6x1023

d) L1x1025 €&  4.6x1026

The molar mass of A12(SO4)3 in grams is

A 75 b)) 187 o 24 4 - 273 e 342

25

26,

27.

29.

30.

31

-4-

How many grams of water are in 22.0 g0fZnS04.6 H20?
J 0490 b) 122 o 149 d 408 & gg -

a) 16.7%, 16.7%, 66.7%

b)  29.4%,23.6% 47.0%

c) 3.00 x 101%,3.00 x 101%, 4.00 x 1019
4 455%,36.4%, 1809

16.4 grams of CuC12 is dissolved in enough water to make 5.0 L of solution.

What is the molarity of this solution?
2  0d24 b) 930 9061 & 33 g g

. ‘r
How many mol of H2504 are oo;Swm& in36Lofalsm solution?

a) 642 | b)) 24 9 54
d) 3.3 x 1024 e) 2.3 x 1025

@ - 4

A compound contajns 29.1% mo&.c.buv 40.5% sulphur, and 30.4% oxwwg by mass.
Calculate the empirica] formula of the compound. <
a) meo._m . b) Na28302

Na28203 )
d  Na2s40 ©  Na4S403

A compound 8& analyzed and found to contain 5.52 g of carbon and 0.93 g of hydrogen.
If the molar mass of the compound is 54 g/mol, what is its moleculat formmula?

a) CH2 . b) C2H c) C2H4 -

9  C3H . ¢ C4Hg

In an exothermic reaction, the enthalpy of the products is ) the obﬂr.&w%, of the
reactants which gives AH a value. ’

a) less than, negative _ b) . less than, positive c) equal to, unchanged
9 greater than, negative ¢ .

greater than, positive

The missing coefficient in the-following equation is .
4 Fe(NO3)3.6 H20 —> 2 Fe203 + 12 NOp + 3 2 + H20
) 4 b 4 9 10 @ g2 9 24 .
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